2×1＝      2×2＝      5×3＝      2×4＝       9×5＝      5×6＝      5×7＝      5×4＝      5×9＝      7×7＝       9×7＝      9×6＝      9×8＝      9×9＝      6×5＝      3×8＝       3×7＝      3×6＝      4×7＝      7×9＝      7×3＝      7×5＝       5×5＝      3×7＝
8×1＝      8×2＝      8×5＝      8×4＝       4×7＝      8×2＝
4×6＝      3×9＝      4×8＝      4×9＝       3×5＝      7×4＝
5×1＝      5×2＝      4×4＝      5×4＝       2×4＝      3×3＝
7×6＝      3×2＝      7×8＝      7×9＝       4×5＝      8×5＝
4×8＝      4×2＝      4×3＝      4×4＝       6×5＝      5×3＝
2×5＝      3×5＝      6×5＝      5×5＝       7×8＝      9×4＝ 
3×1＝      8×3＝      3×3＝      3×4＝       7×8＝      7×5＝      8×5＝      9×5＝      6×3＝      5×7＝       5×9＝      4×3＝   
6×9＝      6×2＝      6×3＝      6×8＝       4×8＝      7×6＝
2×6＝      2×7＝      2×8＝      2×9＝       7×1＝      7×2＝      
6×6＝      6×7＝      6×8＝      6×9＝       8×7＝      3×8＝
9×4＝      9×2＝      9×5＝      9×4＝       2×9＝      8×8＝
8×6＝      7×7＝      8×8＝      8×9＝       5×6＝      9×6＝
2×1＝      2×2＝      4×3＝      2×4＝       2×2＝      2×3＝    
5×6＝      5×8＝      5×7＝      5×9＝       4×7＝      3×8＝
4×9＝      9×7＝      9×8＝      5×3＝       3×6＝      6×7＝             
2×8＝      3×8＝      5×3＝      2×4＝       9×5＝      9×9＝
4×6＝      5×7＝      4×8＝      9×6＝       9×9＝      3×4＝ 
5×7＝      5×4＝      9×8＝      5×9＝       7×7＝      7×4＝
9×9＝      9×6＝      7×7＝      9×9＝       6×5＝      7×5＝
4×8＝      5×9＝      3×6＝      8×3＝       7×9＝      6×7＝
8×5＝      8×4＝      4×7＝      7×9＝       4×7＝      5×6＝
3×7＝      3×9＝      8×9＝      4×9＝       8×4＝      6×9＝
8×1＝      8×2＝      3×2＝      8×4＝       6×9＝      7×2＝
6×3＝      5×6＝      4×4＝      5×4＝       3×5＝      3×7＝ 
8×6＝      7×7＝      7×8＝      2×2＝       6×5＝      5×5＝
4×2＝      5×2＝      4×3＝      4×4＝       5×8＝      8×7＝
2×5＝      3×8＝      4×5＝      5×5＝       4×5＝      6×8＝
3×9＝      4×8＝      7×3＝      2×9＝       8×5＝      3×3＝

7×8＝      7×5＝      8×5＝      9×5＝       2×3＝      2×8＝

4×9＝      6×2＝      6×3＝      6×4＝       5×1＝      7×5＝

9×3＝      4×7＝      9×7＝      9×8＝       2×5＝      7×6＝
4×4＝                       
5×5＝                  8×8＝
2×2＝      5×8＝      
3×6＝      2×8＝      3×7＝      3×9＝       3×3＝
8×7＝      8×6＝      3×2＝      3×8＝       8×4＝
4×5＝      5×7＝      4×8＝      9×6＝       9×8＝
二年级上册表内乘法过关检查（三）

班级       姓名           时间   分  对     题

9×9＝      3×8＝      7×3＝      6×4＝       9×5＝
3×6＝      2×4＝      9×6＝      5×8＝       6×9＝
7×9＝      9×6＝      6×7＝      7×9＝       6×5＝
6×8＝      5×9＝      3×8＝      8×5＝       8×4＝
8×5＝      8×4＝      9×7＝      7×9＝       4×7＝
3×7＝      7×9＝      4×8＝      7×9＝       7×6＝
5×9＝      2×6＝      4×6＝      5×6＝       3×5＝
8×9＝      7×8＝      1×8＝      3×2＝       7×4＝
4×3＝      5×6＝      4×5＝      6×8＝       3×3＝
2×5＝      4×8＝      6×5＝      5×7＝       4×5＝
3×9＝      8×2＝      3×2＝      8×9＝       8×5＝
7×7＝      4×5＝      8×9＝      9×6＝       4×3＝
8×9＝      6×3＝      7×3＝      9×4＝       3×7＝
5×6＝      5×7＝      4×8＝      6×8＝       7×6＝
7×3＝      7×2＝      7×6＝      7×5＝       5×8＝
8×8＝      6×7＝      3×4＝      7×9＝       4×7＝
4×6＝      9×8＝      7×3＝      9×8＝       3×4＝
6×9＝      5×8＝      8×3＝      6×9＝       8×3＝
1×7＝      2×4＝      6×3＝      2×7＝       6×5＝
3×5＝      6×8＝      5×8＝      6×9＝       9×3＝
4×7＝      9×5＝      9×8＝      2×7＝       5×3＝
3×6＝      3×8＝      9×9＝      3×9＝       5×8＝
8×7＝      8×8＝      6×2＝      8×4＝       4×9＝
3×2＝      7×7＝      4×8＝      5×6＝       3×7＝
2×8＝      4×8＝      3×3＝      6×4＝       3×3＝
7×7＝      5×7＝      9×2＝      5×8＝       8×4＝
9×8＝      9×8＝      8×7＝      3×9＝       6×5＝
5×8＝      4×9＝      3×9＝      8×5＝       3×9＝
8×7＝      8×5＝      4×7＝      7×6＝       5×7＝     
4×7＝      3×9＝      5×3＝      7×9＝       6×7＝
6×5＝      5×6＝      6×4＝      4×3＝       3×5＝
5×2＝      3×7＝      7×7＝      6×2＝       7×5＝
4×9＝      8×6＝      4×5＝      4×8＝       9×5＝
一天做20道
二年级上册表内乘法过关检查（四）

班级       姓名           时间   分  对     题

4×9＝      6×2＝      6×4＝      6×7＝       3×7＝
6×6＝      4×7＝      8×7＝      6×8＝       9×6＝
7×7＝      2×2＝      7×3＝      7×5＝       5×2＝
8×8＝      3×6＝      4×7＝      6×6＝       8×7＝
9×9＝      5×5＝      5×7＝      9×5＝       3×6＝
7×8＝      5×4＝      6×8＝      7×9＝       5×5＝
5×5＝      8×2＝      5×3＝      2×6＝       9×5＝
2×3＝      6×7＝      8×9＝      5×8＝       7×8＝
4×7＝      9×7＝      4×8＝      2×7＝       5×3＝
8×8＝      4×3＝      3×8＝      5×9＝       9×7＝
3×6＝      8×8＝      3×2＝      8×7＝       5×8＝
4×5＝      5×9＝      4×8＝      9×6＝       9×6＝
